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Instructions for the candidates :

. Candidate must enter his / her
' Question Booklet

Serial No.
(10 Digits) in the OMR Ansiver
Sheet. .

Candidates are required to give fhezfr.

IR answers in their own words as far
- as practicable.

3 ﬁ'ﬁ%ﬁ? 3T é’?ﬁ?ﬁ' g7 7%?}5? 3?3?‘1177?%7' . Figures in the right hand margin

ﬁﬁ-’t? FHed Bl indicate full marks.

4. H’Fﬁ’ Eﬁ* H?Ff'iacﬁ"' ﬂé’# & f?_'f? 15 minutes of extra time have been
greqferar &1 15 e &1 ifaRk® corecy allotted for the candidates to read
frar war &1 : the questions carefully.

5. g8 ¥4 }]ﬁ?‘fﬂ gt @vel 7 ¢ —@vg-af This question booklet is divided into

v @ug-al : two sections — Sectlon-A and
Section-B.
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In Section-A, there are
70 objective type questions, out of
which any 35 questions are to be

answered. If more than 35 guestions
" are answered, then only first 35 will

be evaluated. Each question carries

1 mark. Darken the cirele with blue/

black ball pen against the correct
option on OMR Answer  Sheet
provided to you. Do not use
whitener / liquid / blade J nail

‘ete. on OMR Answer Sheet,

otherwise the result will be

- invalid.

Ir_z Section - B, there are Zﬂlshort
answer type questions, | each

.-Acgn-:ying 2 marks, out of which any
10 questions are to be answered.

Apart from this, there are 6 long
answer type questions, each
carrying § marks, out of which any

'3 questions are to be answered.

‘Use of any electronic appliances i-s

strictly prohibited.
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WUg - 3 / SECTION - A
Tﬂﬁﬁi@ U1 / Objoctive Type Questions

W @1 1§ 70 9% % WRw Wy % g 9w feme o o €, faad @ ©@
W T mﬁmﬂﬁﬂqvﬁ%mﬂﬁomnvﬁzwﬁxﬁaﬁ | Zmaent
35 UV &% I AR ¥ | | 35 x 1 =35
Question Nos. 1 to 70 have four options, out of which only one is correct, You have

to mark your selected options on the OMR sheel. Only 35 questions are to be

~ answered. 35x1=35
1. Preffen 3 e oRe e w wd efe §
(a) TR afEm | (B) i afgq
(cy SR © (D) T A
. Which of the following is the river basin 6f western India ?
; (A) ‘Mahi basin (B}  Kosi basin |
(C) = Ganga basin | - (D) Son basin
2. W TRl TE IURE &7 § |
(A) T SERT : | B FoIE
© TRERid S - (D) T ¥ &5 el
The most important jute producing region is
\ (A)  Ganga delta ! (B)  Krishna delta
. | (C) Godavari delta ' (D)  None of these
3. gEEEd TEl e
(A)  wAEH A (B) . Ten H
() FRETEH: ' (D) anifewm A
[ 323 | E [(B)-9004-E@s) Page 3 of 28
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"éaBab gbudan hill is in

4 Kemataka - (B) Goa
() Jharkhand (D)  Odisha
. freiad T ® I e SEen & fog wiew w2
@) RS @ fgw
€) AHg (D) - #RETS
Which of the following states is famous for Gondwana coal ?
(A) Nagaland | : (B) Tripura
(C) TamilNadu | (D)  Jharkhand
(A) TR | B o=t
()  Sehtae s=efd o (D) , STy

- The most important factor influencing populétiori aistribution is
(A)  Landform | (B) Soil
(C) Natural vegetétion (D)  Climate |
ST @ ST T A g 7 | |
(B =t e | . _ (B)  ®g WgHUT
(C) T EEe J (D},‘Eﬁ@mﬂ

Which pollution is caused by industrialisation ?

(A)  Water pollution. ke (B)  Air pollution
_{_C} Noise Pollution‘ : (D) All of these
[323 1 | (B)-9004-E3s) Page 4 of 28
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7 TS SA @
s a) W‘iﬁm : (B) @'ZQITWT
© @ e D) 9 & FIE T

Handloom industry is

(A)  basic industry | (B)  cottage industry
(©)  footloose industry (D) none of these
8. I UNHIT 3R ¥R A 3TN0 ¥ ety frarsheinl @t e S &
A) fidas ey - B) b framee
(©) ﬂﬂﬁm - o o

Activities related to high“degree and level of innovation are called
(A)  Secondary activities . (B) - Quinary activities

(C)  Quaternary activities (D)  none of these

9. IR URa A ReE F gE AT FTE 2

oy T | - (B) Fergw
© e - O T A
‘Which is thc: main source of irrigation in north Indin 2
(A)  cCanal fB] Tubewel]
~ [©  Ppond ) | (D) None of these
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o, freffian e fr A FEAE 2
[.A} e A (B o TR
(C) < HTHIS - o) ferEe

Which of the following minerals is called ‘brown diamond’?

(B) Mica

*

(A) Iron ore
(C) Manganese | (D)  Lignite
i St ol § e T AR Sl e AR € 2
(A) SRV b 4 (B> TERTE
© wew  _o® o Twe
In which of the following states Kaiga étomic power centre is located ?
(A)  Uttar Pradesh (B) Maharashtra
©) karnatal;a (D) Gujarat
12, Aefeen v s & e e R ¥, 2
(A)  HERTE | | (B) ¥NGS
(C) HA TR | (D) TR

In which state is Bailadila iron ore region located ?

(A}  Maharashtra (B) Jharkhand
(C) Madhya Pradesh (D)  Chhattisgarh
[ 323 | E [(B)-9004-Ews) " Page 6 of 28
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13 Fger Hrier o Rere 2
(A) ﬂwmﬁ | B aﬂ@@?ﬁ
©  sife | o) e o
Kendujhar manganese region is located in |
(A) Madhya Pradesh’ (B) Jharkhand
(C) Odisha . - - = B (D)  Chhattisgarh
14, Frffes § 9 oo @ w2 7
@ wem B o o
(© 9R w 087 D) @ A
Which of the followirigis non-conventional source'ﬂfenergy >,
(A)  Coal (B)  Hydel power
_[c'i.' Solar energy Dy Cruadl
15. 2011 St VAT & AR faer BT SRIGAT T |
{):;}_ « 1126 =RF / =t et B) 1006 &&M® / & e
_.(Ci_ Qoaséﬁﬁfa'f‘f%ﬁ (D) - 1106 'aaﬁﬁ_faﬁ%tﬁ_

As per 2011 Census the density of population of Bihar was

(A) 1126 persons/sq.km. " (B) . 1006 persons/sq.km
:{C} -906 persons/sq.km (D) 1106 persons/sq.km.
| 323] E-|(B)-9004-E@s) Page 7 of 28
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16. Wﬁ*{ﬂ’lmﬁ%ﬁﬁﬂﬁﬁégﬂ ?

| i A

18.

() 1881

(B) 1901

o) T A FE R |

(C) 1781
When was the first complete Census held in India ?

&) 1881 | (B) 1901

(C) 1781 . (D)  None of these
2011 H} STFTUET ¥ IFER WRA § ARG @RS ¢ |
(A)  31:16% N B 3516%

(c‘] 36:16% | X -\ yeid (D) 3716%

As per 2011 Census the urban population in India is

| (A) 3I1-16% _ ) | (B) 3516%
(C) 36'16% (D) 37°16%
Freffam 3§ @ N TR § O R 1 g B Y 2
@A) foemE : : | (B) A
(C) M 3R TR | (D)  Torew

Which of the following is the main reason of male migration in India ?

(A) Marriage : (B) Business

'(©)  Work and employment (D)  Education

[323 ) E (55004 Ews) Page 8 of 28

u

by:BSEBResult.In



Pt Tl & R 0-6 a1 ot 3 R e § 2

19.
@ @@ g TRM
(C) Uvw (D) femmer W
‘Which of the following sta;tes Has the lowest sex ratio in the age-group of
0-6 years ?
(A)  Haryana (B)  Gujarat
(C)  Punjab | i (D)  Himachal Pradesh
20. _2011ﬁmm%mﬁﬁmﬁﬁﬁﬁmﬁmﬁamﬁmwa§m
ey g 2 |
(a) T . (B) \EeRrS
() T3 CUYD) R
Which of the following states- has the- highest proportion of urban population
according to 2011 Census ? | |
(A) Tanllil Nadu ' [B} | Maharashtfa
(C) Goa | (D) Kerala
21. fﬁﬁmaﬁa’fﬁwﬁﬁwwmw%
(A)  STEAITAHI 39S (B) I AV
(C) =g AR (D) feee 1 S
" Main cause of soil degradation in irrigated areas is
(A) Gully- crosion ' (B)  Salinisation of soils
| (C)  Wind crosion | : (D)  Siltation
[ 323 | E [(B):9004-Ews) | Page 9 of 28
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23, édllﬁW%'&WWWﬁWWme% >
(A) ~ A WX (B) HEWH
(C) &« D) = 3
As per 2011 Census which state has thg lowest density of population ?

(A) Arunachal Pradesh (B)

Meghalaya
(C)  Kerala | : (D)  Assam
23. 2011 Sl FVF F IFER R A SEE o6
(A) 1041 T (B) .11-41 FIS
(C) 961 FL \ D) 851 ?ﬁ‘s’

As per 2011 Census- the population of Bihar was

(A)  10-41 crores (B) 11-41 crores

(C) 961 crores (D) 8'51 crores

24, ﬁﬁ%ﬁﬁgﬁﬂ?ﬁﬁ@ﬁmﬁmﬁmwﬁm%?
(A) TWWT B) fmr

THeRTE

© e dme | (D) 2
Which of the following states has the highest population ?
(A) Uttar Pradesh - (B) Bihar
(C) W;‘:st Bengal _ (D)

[323 | E L[B].-9004~E(351

Maharashtra |
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25. ®iiesheer Wﬁﬁ T
| (A FE W | (B) 34
(C). T/ | (D) e Ud @l @
Horticulture is related to
‘{A} flower (B cereal
(C)  pulse - (D) fruit and vegetable
26. Waﬁﬁﬁwwﬁmq@m%
(A) ISR UG | . (Bl Tove-smEME
(C) oY HWEA | ©) TR B A

The main cause of soil'erésion in arid areas is

(A)  gully erosion ~ (B) siltation

(C)© wind erosion F (D) none of these
27. o wRa F féreé w1 TET AT B E 2

(A) T8 ®) . G

(©) - | | (D) ¥H ¥ HiE Tl

e
The main source of irrigation in South India is

(B) tubewell

(A) canal
{C) tank (D)  none of these
[ 323 ] E [(B)-9004-E@s) Page 11 of 28
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28. ORI Tty st 9 v &
& sRwWwd . (B) H‘a’mgﬁ
(C) «FHFT ‘;D} TR H

’I_‘arapur atomic power centre is located in

(A * - Uttar Pradesh | (B). Maharashtra
(C)  Karnataka I_ | (D) Gujarét
29. S (TTATESRE 3% dgiferm TG $2iT) w1 TEreE s € 2
@) fo | N
© w , T o

Where is the headquarters of (OPEC ( Organisation of Petroleum Exporting
Countries ) ?

(A)  Vienna (B) Jakarta

(C) Hanoi : (D)  Geneva

30. ¥l % AR S = i e e § o 2

(A) « STEAHR B E
©  FEER oo m
Village sellled .a.rou.nd a la.kv; will come qt.mder which pattern ? -
{5_). Rectangile (B) Radial -
(C}-. Circuléa_r _[D)- | Star
[323 ] E ’TB)-QOO4-E[35) )  Page 120128
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31.

Pt & i s T 4 2
@) SR | B  fozwEn
© i | (D) TERH
Which of the following is a commercial city ?
' (A)  Jerusalem . o (B)  Pittsburgh
(C)  Beijing . (D) Amsterdam
32. SR 3eaiies AR wedr ¥ |
(A) I s B W R B) It sTReHT ) T §
(C) & 9wl cferr & oDy TR wE A
North Atlantic route cénpects -
(A)  North America with Dips - (B)  North America with Africa
(C) Europe with Asia.. (D)  None of these
33. e G S 3uER 3§ R e i e R v e
W e | B)  uw Hy |
o b | D) s
. whmh type of cultivation was ;leyéloped by the Europeansliq their colc;nies ?.
" (A)  Milpa R .' (B)  Plantation farming
(C)  Mixed farming . (D)  Viticulture-
[ 323 E | ['B}hgooc}-ré(as; ' Page 13 of 28
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34, WS Fell I HY FEE §

a) TEEEmIE (B) \ Uqur HHE

(C) THHEIRIE i | D) WK FH @
Farming of citrus fruits is related to -

(A) Mi:ﬁed_ f;afrning : (B) Plantation farming
(C) Mediterranean agt_‘iculfure (D) Co-operative farming

35. Freaferfa o Q W siffern @) wowEh ¥ 2
(A) T 5 (B) 3R 3T
(C) Eﬁ%ﬂ | Py .(Dj e} |
Which of Ithe following istHie c'lap;-ital of Australia ?
(A) Canberra " By Addis Abeba
;‘(C} . Beijing - | D) ~Perth . =~ .
36, ‘EWEER’ @ RN § R Hew F Hewul WA T E 2
W ReTE @ wEEws
©) - (A) T (B) T | e Tl @ HIE

Which component is considered as important in the concept of Possibilism ?

(A) Natural component (B) Human component
(C) Both (Aj and (B) | (D)  None of these
[ 323 ] E |[(B)-9004-E@3s) Page 14 of 28
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37." %w%wawmﬁﬁw%ﬁaﬁﬁ@aﬁ#aﬁ@%mﬂﬁ% ?
S(a) uRe g (B)  gfEr-gg ufirn
(C) Eﬁiw-t!ﬁﬂﬂ SR (D) 3?-[(‘1'&5‘ Il emfiam
. Which of the following regions is not included in the denscly populated regions
of the world 7
. (A) Western Europe (B)  South-East Asia
(C)  South-West Africa (D)  North-East North America
38. .ﬁmﬁfﬁaﬁﬁﬁq%m@mﬁmaﬂmwaﬁa? '
(A) - W st e (B) apHer SToreTyg
:-' € -8 W Fot qemg D)\ 91T ue ey
Which one of the following is not« pull factor of human migration ?
: - (A):  better living conditions (B)  Favourable climate
- {C) Poor living conditions o (D) Peace and stability
30 o % for 2w ) sreren e & |
W g T R " (B) *WRd
© 9= | - (D) R
Wlﬁich country of the world has the highest population ?
[A] - United States o'f America (B) .IIndia
{C) China ' (D)  Indonesia
4.  Frsfofas % FF vwel TN @ E 2
@A) i i | B SUEm
o Qo HH (D) AR 3 Fiy
_-_‘_-_‘-"-'l——_ - i
[ 323 ] E J (B)-9004-E35) Page 15 0f 28

by:BSEBResult.In



Which of the following is not monoculture ?

(A)  Mixed farming . : (B) Dairy farming

(C)  Plantation farming " (D) Commercial grain farming

41. frfafad o $19 U997 wE T Y ?
(a)  ww -
(C) T - (D) , @%

L]

Which of the following is not a plantation crop ?

(A} Coffee (B) Wheat
~ (C) . Sugarcane - (D)  Rubber
42.  Torem IR TS B A el
(&) wRaEd (B _. Uit & A
(€) rmrm_éaﬁ | -(D} e ST |

)

Extensive commercial grain farming is not practised in

(A)  Prairies (B)  Steppes
(C) Pampas B (D)  Amazon basin
43. ECT SIS W F FE &
(A)  PTERIEEG (B)  HeTHE-AEAR
© wemm-eR | (D) I HEAR

The nucleus-of the Hugli industrial region is

(A) Kolka_ta—Howrah | (B) Kolkata-Medinipur
{ci . Kolkata-Rishra (D)  Kolkata-Konnagar
[323 ] E | (B)-9004-E3s) | Page 16 of 28
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44,

45.

46.

' (A) Karnataka

" (C)  Kerala

RS F vger deat s wafe g3T o
(A) 1936 % : J (B) . 191-1 e
(C) 1923%. D) 1927 H

The first radio programme in India was broadcast in

(A) 1936 : | (B) | 1911
_(cp. 1923 | .. D) 1927
TR Y F HI g |

) 1853_5‘ B) 17534
‘-.[.C). 1863 | ' ' | | D) 1760 F

Indian Railway was introduced in

-(A.) 1853 Y 1753

() 1.863 -' | | :[D} 1760

Ffeer e s ¥ |

) wERewd . - (B sifewd
(© S H o : ) dfieEg A

Kochi port is located in

(B)  Odisha

(D) Tamil Nadu

(323 | E [(B)-9004-E0s)]
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47. S-S U R

(A) TG Gehuy . (B) TSI Y

€) ATER (D) et i

Waterborne disease is

(A) respiratory infection (B)

conjunctivitis
(€)  diarrhoca (D) bronchitis
a8, el SR ST Aot &
@ B fee
@ s D) =

The megalopolis haying the higheét popuiati_on is
" (A)  Mumbai S 0 4 (B) - Delhi

(C) Kolkata _ (D)  Chennai

49. YmEl Hied S R @ _
(A) R - B TRE
(€ feceit & ' (D) 3 | Wi T@l

Dharavi slum is located in

(A)  Kolkata | | (B) = Mumbai
(C) Delhi * . (D)  None of these
[ 323 | E [(B)-9004-E@s) Page 18 of 28
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50.

51.

52,

ﬁmﬁf@ﬁﬁaﬁ?mﬂmmhmﬁﬁﬂmmmwmw

2.7 - -_ _
@A) A gREEE : (B) ST
(C) ST & ST ‘ (D) TERE TR
Which of the following is the most important factor iﬁ the. interaction between
man and En\;ironment ? |
(A)  Human mielligence (B) 'i"echnology
(C)  People’s perception (D). Human brotherhood
frafeems sieheamr o frg ges @t TEwT! A TR 2
W) SR B (B I e
© @ @) A oo wiaw Tél
-Which component is considered important in ti}é concept of determinism ?
(A} Natural component B B) Humaﬁ component
; [cj 3 Both [A}. and (B) L F imy Noleobihese

Pt i Qo1 G 7 & 2
@ FR o B

© o D)

" Which of the following is not a planfatibn crop ?-

(A) Coffec B)  Wheat
- () Sugarcane (D)  Rubber
: [ 323] E (B)-9004'Ef35] . Page 19 0f28
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3. fr=fefed o S wriftrs framrem € 2

(A) @t | | (B) MR,
© o D) + ¢ T
Which of the following is a primary activity ?
" (A)  Farming : (B) Trade
(C)  Weaving. | " (D) Jute industry
54, W@ T Sed 8

&) &< mRIR B Wi e |

(B) ~ VI TRTEIR I el Terary 3
(C)  IwileH WETEIR ) HTHICH AR &

(D) W WIR 7 SRR

Suez Canal connects
(A} IndidDobean with Pacific ocsan

(B)  Pacific ocean with Atlantic ocean

'{C;u At.lanti.c ocean with Arctic ocean

(D) Red sea with Mediterranean sea

55. TS G S SR T I E

(a) e | - (B)  UR¥EH ST o
(C) o TERTZ H - (D) TR
Netaji Subhash Chandra Bose International Allrport is in
(A)  Odisha ; (B) West Bengal
(C) Maharashtra _ (D)  Gujarat

5 323 ] E [(B)-9004-Eg@s) Page 20 of 28
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56.

B7.

(A)  STEAHR : | B &a
€ FaHER : D) @

Village settled along a river will come under which pattern ?

(A)  Rectangular (B) Radial
(€} Circular | SR : | Linea;
%ﬁﬁ@@ﬁ%ﬁmw%m% ?
(A) SR S | (B) (\, FER Tl
I‘(C)I T 3 '[b]\.aéamfraﬂaﬁm

Which of ihc_ lollowing(produces raw material for other industries ?

(A)  Basic industry : B Cottage industry
(C)  Footloose industry [D}l Small-scale Mdﬁstry
. Feifera o w9 gdaw fRae & 2
= | | . (B =ER
© T b eme

Which of the following is a tertiary activity ?

~(A)  Farming (B)  Trading

() Weaving (D)  Hunting

g 323 |E {B]_goo‘ﬂ,._E{gE]J Page 21 of 28 |

by:BSEBResult.In



50 ﬁﬂfﬁf@ﬁﬁﬁqﬁmﬁ?ﬂwmqﬁ%? |

(A)  FST TEE (B e WA
(C) =% fmivy (D) IR T
Which of the following is r;tot a secondary activity ?
(A) Catching fish o : . (B) Iron smelting
(C) Making garments _ (D) Making basket
'60.  TFE-TRRINN RIS HerHnt e ¥
(A) e w T AT Q (B) =g Wl @@ Y
() TRHRA I TERIT Y (D) SIfeH &t Ao ¥
The Tran.s-Continent'ai Stullart Highway connects |
(A) Vancouver with St. John’s (B) Chengdu with Lhasa
" (C) Edmonton with Anchorage : (D)  Darwin with Melbourne

61. TATET X el & |

(A)  SRII HETEIR I o HeTrR &/
(B) T R F Afdgent i @el 4
(C) ¢ . WRTIRT HRTHIR ht Seeiiesh HeldrnR &
(D) S T A TR d
Panama canal connects .

(A) Pacific ocean with Indian ocean

(B) Caribbean sea with Gulf of Mexico
(C) Pacific ocean with Atlantic ocean

(D)  Atlantic occan with Indian ocean

- [323 ] E [(B)-9004-E3s) Page 22 of 28
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62.
(A) e : (B) o7 gFT
(©) WW (D)  refreR g
Main seaports of the u_rorld are ] '
(A) Naval ports (B) Oil ports
: | (©) Comprehensive ports | (D)  Industrial ports
63 Wﬁmﬁwwwwwﬁmmm% >
@) e B s emRe
(© T ) Ve
Which of the following continents has tﬁe maximum flow of global trade ?
fﬂi ¢ Asia | (B) . North America
(C) Europe (D) Africa |
1. Aot el s e o ¥
() TERTZ H | _ [E] FREE H
© T ww A D) .@?amaiﬁ'
NOamu-nd_i iron ore regiqﬂ is located in
(A) Méhlarashtra (B) Jﬁarkhand
[é} Madhya Prédcsh (D) -Chhattisgarh
s ————  pagc 23 0f28
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65.

66.

67.

gRd ¥ gk witg ¥ g% O
(A) ¢ 1950 S¥ERH (B)
€ 1970 F HH ' (D)

Green revolution was starded in India in

(A) 1950’s ~(B)
(C)  1970%s (D)
aﬁt—m%n oo ferd #

(Az FAleh | (B)
(C) | FEA |

- Kolkata port is located in

(A) Karnataka (B

(C) Kerala (D)

Pretfetfign it § & 9 arg = @ &
(A) eI T (B)

(C) HidErR (D)

Dy

1060 % TR H

1080 % TR H

1960’s

1980’'s

aAfeen A
ufges et H

Odisha

West Bengal-

v v

Which of the foliuwing diseases is not airborne ?

A o . - - . . ) .
(A) Respiratory infection (B) Conjunctivitis
Di
[C]. larrhoeca | (D) Bronchitis -
[323 ] E (B)-9004-Es) | .
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68. FSICT o IR} 8 T FeT oy &
S B e
o few D) TR

The coffee region of Brazil is called

| (A) Faﬁenda (B) Agenda
(C) | Milpa - _ (D)  Ladang
60. . TR Ve Tt U araferd 2
(A) Tofdww A (B) « @i o

© 3w A o I

Manipal Software Technology Park is situated in

() Sikkim | (B) Karnataka

(C) Andhra Pradesh . (D)  Tamil Nadu
70.  Frefoiea o weifus wghid 765 Hi9 ¢ ?

() e (B) » TR

ey W (O} =T

Which of the following is the most polluted rix{er P

(A) Ravi (B)  Godavari

(C) Brahmaputra (D) Yamuna
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@US - ¥ / SECTION - B '
g I e / Short Answer Type Questions

mmx#zoagaﬂﬂa% | Tt 10 womt % weE ¥ s ¥ e 2 I
fraifa €

10 x 2 =20
Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each
quest:on carries 2 marks. 10x2=20
TERTE, & OR W@ Pl o Ia 31 & 90 ford | 2

Name four important centres of cotton textile industry of Maharashtra.

TOR ¥ 9 w91 ORE €

2

What do you mean by communication ?
STeT W WeuA T 2 2
What is watcrshéd'mahagement ? '
WRT % IR We-37wh IR [EEha o e | 2
Writé the names of four iron ore producing states of India.
TS et &1 uife s | 2
Dcflinc Human Ge-:;graphy. hllps:/fwww.bseﬁstudycom

6. S S SR T WH 3TN T H | 2
Distinguish between birth rate and cieath rate.

7. T ANR FE ?

- What is free trade ? "y .
8. WA H ued Ry fevmrur & 3t HRON 1 Seeie Wi |
~ Mention two reasons of declining child sex ratio in India.

9. %ﬂ—m%@ww% ?

How is sex-ratio measured ?
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10. TR % YR W AN FI Sl ﬁﬁm |
Classify industries on the basis of size.
11. ¥Rd % 9K 9@ i e & A9 Fasy |
Name four industrial regions of India.
12, WRE # oRae & T e w6 ¥ 2
TWhich are the main means of transpbrtation in India ?
13, forerer sl T 87 e e s T g H SR W L
Distinguish between net sown area and gross sown ﬁca._
14. &fT UG ¥ UR Al % Jeehg Y |
Mention four sources of noise pollution.
15. 3NRUe Taesd |1 ¢ ?
What is Orient express ?
16. g9 Sierl % Hewd H Ioeid el |
- Mention the importance of the Danube waterway.
17, TrE e F R A ST EH AE 2
| Which are the fwo basic regions of human development ?
18, VAT SR ISER H I WE W
-Diﬂercntiiite between immigration and emigration.
19.  Siehry forarers w1 g5
Whalt is digital divide ? -

20, YRR (R T & ?

What is trans-continental railway ?

Page 27 of 28

[ 323 ] E {(B)-9004-Es)

by:BSEBResult.In



i 3919 W / Long Answer Type Questions

mwzz#zsa"r&ﬁﬁu% | fret i ot &% I € | uRw % T
5 3w Pl § 1 : 3%x5=15

Question Nos. 21 to 26 are Long Answer Type. Answer any three questions. Each

- question carries 5 marks. : 3%x5=18
21, 'W@mwmmﬁwaﬁfmt 5
Differentiate between nomadic herding and commercial livestock rearing.
22, SR MR § @ e AFl &% Hewd &l gu Sy | 5
Describe the importance of Suez caz';al route in iﬁternationa.l trade.
23, fasreRiiet < # TG SRadl T ® G Fie |- . 5
Discuss the problems of urban settlements in developing countries.
24. YA H 9F & IURA TE faaRer & foero § | ¥ &
Give an account of production and distribution of paddy in Indxa | ;
25. ol & AURUN Al i fercrerr wifrg | | 5
Discuss the non-conventional sources of energy. - | -
26. R 1 AHTEE s8¢ 3R Fefafad # wRRe i 5
(A)  FTAR
B) e
€ IR |
(D) EEE = e fargre Y A aiafda @efl e,
Draw a map of India and show the following : afdpifis sae [Sh s @ad
(A) Udaipur - | g Tl & T
(B) Shimla
(C) ~ Bhubaneshwar BSEBResult.In
(D)  Hyderabad
. (E) Narmada river. . | fafaz a,_el @
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